Parts

O
d
<

Chimney

Oven body

Oven door

after and right leg

after and left leg

before and right leg

before and left leg

Trolley Baffle

handle

Base plate

Pt et (et et (et et | P pd | et et

[tem No.: P-006E

1. Connect 9 with 6 and 4 by 4pcs M8 * 20mm inner hexangular set screw.

2. Connect 8 with 4,5,6 and 7 by 8pcs M6 * 1lmm inner hexangular set screw.

3. Connect 10 with 4,5,6,7 and 8 by 8pcs M6 * 1lmm inner hexangular set screw.
4, Connect 1 and 2 by 4pcs M6 * 21 mm sunk screw.




